First Degree Inequalities

Set

Roster notation

Inequalities

Open vs. Closed

<

Set Builder notation

Interval notation

Empty set or null set

Multiply or dividing the entire inequality by a negative

Examples

< less than

> Greater than

Name

<less than or equal to
> greater than or equal to

# not equal

vV IA

Given A={a,b,d,m}and B ={b,c,m,n}, find AUB and AN B

Given A={L,2,3,4}and B={b,c,m,n}, find AUB and A(1B



(3,0) (—o0,5] [8,9)

6Xx+42>22

—2X+3>4x-5

8+3(5x—7)<9-[4-6(2—X)]



